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Types, Literals, Variables, Operators, and Expressions (10 AaZLlLih)
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@29819N15 run 1

Input number of milliseconds: 186400500
Results = 2 days, 3 hours, 46 minutes, 40 seconds, and 500 milliseconds

@29819N15 run 2

Input number of milliseconds: 85000200
Results = @ days, 23 hours, 36 minutes, 40 seconds, and 200 milliseconds

2) 5@azunib (HWO2_2_5XXXXXXXX.py) TWidulusunsunim python tNannyadavadiduasasaidu Nd

sumiaglugd y = moc + b uaz y = max + be lasiwuald my, by, me, uaz ba idusmwanads uaz mi =
me
LN RN TR NS TILEY (Linear Equation: https://th.wikipedia.org/wiki/aumil,"'fi\‘iLf;;fu)

A A >3
lugd y = mx + b las m @a slope uaz b Aegadauuuny y
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https://th.wikipedia.org/wiki/สมการเชิงเส้น

@29819N15 run 1

212

First Equation

Input ml: 3
Input bl: 4
Second Equation
Input m2: 2
Input b2: 3

The point of intersection is at x = -1.00 and y = 1.00

@29 819N13 run 2

First Equation

Input ml: 2

Input bl: 3

Second Equation

Input m2: -0.5

Input b2: 7

The point of intersection is at x = 1.60 and y = 6.20
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